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(Total 40 Marks) 

 

Suggested Answers to Question One:  
1.1 (2) 

 9x + 4  = 3x + 34 
 6x  = 30 
 x  = 30/6 
              x          =  5                       

 (03 marks) 

1.2 (3) 

         Time taken by pipe A  = 180 min.  

          Time taken by pipe B  = 180 ×
1

6
 min. =30 min.  

 (03 marks)  

1.3       (1)      
  S = X(1 + r)n  X = 50 000,  r = 6% =0.06, n = 10 
 
  S = 50 000 ×(1.06)10 

  S = 89,542 

           Total amount in her account is Rs. 89,542 
                                                              (03 marks) 

1.4      (1) 
 C  – Having a computer 
 M – Having a mobile phone 
 
 
 
 
  

   
 

 

If a student having a mobile phone was selected randomly from this group, the probability 

that the student also has a computer at home is  
140

350
 = 

2

5
 

(03 marks) 
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1.5  (2) 
 

1, 4, 5, 8, 10, 16, 18, 18, 19, 19, 19, 25  

Median = 
𝑛+1

2
 th term 

Median = 
12+1

2
 th term 

Median = 6.5 th term 

Median = 
16+18

2
 th term 

Median = 17 

 (03 marks)  

1.6 (3) 

 𝑃 =
𝑃1

𝑃0
× 100 

𝑃 =
10

12
× 100 = 83% 

 (03 marks) 

1.7        (4) 
𝑃(𝐴 ∩ 𝐵) = 𝑃(𝐴) + 𝑃(𝐵) − 𝑃(𝐴 ∪ 𝐵) 

𝑃(𝐴 ∩ 𝐵) = 0.30 + 0.50 − 0.70  

𝑃(𝐴 ∩ 𝐵) = 0.10 

𝑃(𝐴 ∩ 𝐵)′ = 1 − 𝑃(𝐴 ∩ 𝐵) 

𝑃(𝐴 ∩ 𝐵)′ = 1 − 0.1  

𝑃(𝐴 ∩ 𝐵)′ = 0.9 
                                                  (03 marks) 

1.8 (3) 
                        X = 6000,   r = 0.075,   n = 8 

 

 

 
 

 

    𝐹𝑉 =  67,379    This is the most correct value 

                        𝐹𝑉 ≈ 67,381   

 (03 marks) 

 
1.9    (1) 

Season Seasonal Index Trend Forecasted Sales 

Q1 1.4 12,500         17,500 

Q2 1.2 12,000         14,400  

Q3 0.6 10,750           6,450  

Q4 0.8 9,600           7,680  

 

 (03 marks) 
 

 𝐹𝑉 =
𝑥(1+𝑟)⌊(1+𝑟)𝑛−1⌋

𝑟
  

 𝐹𝑉 =
6000×1.075×⌊1.0758−1⌋

0.075
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1.10   (2) 
  

𝑷𝑽 = 𝑿(𝟏 − (𝟏 + 𝒓)−𝒏)

𝒓
 

 

PV= 500,000, n = 3,  r = 0.075   
500,000 = 𝑋(1 − 1.08−3)

0.08
 

 

500,000 × 0.08

(1 − 1.08−4)
 

= 𝑥  

𝑥 = 194,017 This is the most correct value 

𝒙 ≈ 𝟏𝟗𝟒, 𝟎𝟐𝟒  

                                                               (03 marks) 

1.11  
 A    (2) 
 B    (4) 
 C    (1) 
 D    (3) 

  (01 mark each, 04 marks) 

1.12  
1,170 × 100 = Rs.900/- 

130     
                                                                                                                                   (02 marks)        

1.13   
     𝑇𝑛  =  𝑎𝑟𝑛−1  a = 1, r = 3, n = 8 
     𝑇8  =  1 × 37  
     𝑇8  =  2,187 

                                                                                                                         (02 marks) 

1.14  
    Statement is True 

 (01 mark) 

1.15  
     Statement is False       

            (01 mark) 

(Total 40 marks) 
 

 

 

 

 

 

 End of Section A 
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Total (40 Marks)  

Suggested Answers to Question Two:  

Chapter 01 – Fundamental Concepts of Mathematics 
(a)   
Method 01 
    3 – 5x    ≤    −12 
    3 + 12    ≤     5x 
 15        ≤     5x 
 3          ≤     x or     x ≥ 3 
Method 02 
    3 – 5x    ≤    −12 
                                       - 5x         ≤    −12 - 3 

               
−5𝑥

−5
       ≥   

−15

−5
 

      x     ≥    3 
                                                                                                              (02 marks) 

Chapter 01 - Fundamental Concepts of Mathematics 
(b)     

2𝑎 + 5𝑏  =  13          1 

3𝑎 − 2𝑏   =  10          2 

1  x 2       4 𝑎 + 10b   = 26        3 

2  x 5       15 𝑎 – 10b = 50        4 

         4   -   3                 19 𝑎 = 50 +26 

                                           𝒂 = 𝟒 

        1         8 + 5b   = 13 

                           5b  =  5 

                             b  =  1 

(04 marks) 

Chapter 04 – Data Presentation and Descriptive Measures 
(c)    

 

 
(04 marks) 

 (Total 10 marks) 
 

Product 
No. Of 

Units 
Angle 

A 180 
180

   360
× 360 = 1800 

B 90 
90

360
× 360 = 900 

C 45 
45

360
× 360 = 450 

D 45 
45

360
× 360 = 450 

Total 360 3600 

SECTION - B 
 

180 

90 

45 

45 

 Sales of Products 

A B C D
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Suggested Answers to Question Three: 

Chapter 03 – Financial Operative Measures for Business 
(a)  
N0TE; in this question variable cost is negative. It is a mistake.  
 

TC =FC + VC 

TC = 200 - 60q - q
2
  

 
𝑇𝑅 = 𝑝 × 𝑞    p = 40 – q 

𝑇𝑅 = (40 –  q) × q 

 

𝑻𝑹 = 𝟒𝟎𝐪 – 𝐪𝟐   
                                                                                                              (04 marks) 

(b)         
TP = TR – TC 

𝑇𝑃 = 40q – q2 − (200 −  60q −  q2) 

𝑻𝑷 = 𝟏𝟎𝟎𝐪 − 𝟐𝟎𝟎  
(02 marks) 

(c)          
At the breakeven point,          TR = TC 

    40q – q2 =   200 −  60q −  q2     
          100q =   200 
     q =   2 
Monthly break-even quantity is 2,000 units  
OR 
At zero profit 
  0      =  100q -200 
100q =  200 
       q =  2 

  (04 marks) 

 (Total 10 marks) 

Suggested Answers to Question Four: 

Chapter 05 – Comparing Two Quantitative Variables 

(a)         
∑ X =64  ,   ∑ Y =59  ,   ∑ XY =552,   ∑ X2 =580,   n = 8                                              

x y X2 xy 
3 3 9 9 

6 2 12 36 

8 5 40 64 

5 7 35 25 

9 6 54 81 

10 9 90 100 

11 12 132 121 

12 15 180 144 

64 59 552 580 
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    b  =  
n ∑ XY −  ∑ X .∑ Y

(n ∑ X2 −  (∑ X)2)
 

    b  = 
(8 X 552) –(64 X 59)

(8 X 580) −(642)
 

     b  = 
4,416 – 3,776

4,640 −4,096
 

     b  =  
640

544
 

     b =  1.1765 

     a   =    𝑌̅ − 𝑏𝑋̅ 

      a   =    
59

8
− [1.1765 ×

64

8
] 

      a    =    7.375 – 1.176 × 8 

      a    =    -2.033 

     Therefore least square regression line is, 

      𝑌 = 𝑎 +  𝑏𝑥 

      𝒀 =  −𝟐. 𝟎𝟑𝟑 +  𝟏. 𝟏𝟕𝟔𝒙   

 

                                                                                                 (07 marks) 

(b)   

Y           = -2.033 + 1.176x 
8           = -2.033 + 1.176x 
1.176x = 8 + 2.033 
1.176x = 10.033 
 
X = 8.53 or x = 9 

 (03 marks) 

(Total 10 marks) 
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Suggested Answers to Question Five: 

Chapter 04 – Data Presentation and Descriptive Measures     

 

Time 𝒇 𝒙 x2 Fx2 𝒇𝒙 

10 – 19 25 14.5 210.25 5,256.25 362.50 

20 – 29 18 24.5 600.25 10,804.50 441 

30 - 39 30 34.5 1,190.25 35,707.50 1,035 

40 – 49 17 44.5 1,980.25 33,664.25 756.50 

50 – 59 6 54.5 2,970.25 17,821.50 327 

60 - 69 4 64.5 4,160.25 16,641.50 258 

 100  11,111.50 119,895 3,180 

(a) Mode 

Mode class is 30-39 

L1 = 29.5, ∆1= 30 − 18 = 12 C = 10 

                          ∆2 = 30 − 17 = 13 

Mo 
 

= 
Li + [

∆1

∆1 + ∆2
] × C 

Mo 
= 

29.5 + [
12

12 + 13
] × 10 

Mo = 29.5 + 4.8 

Mo = 𝟑𝟒. 𝟑 
                                                       (03 marks) 

 (b) 
∑ f X = 3180 ∑ f X2 = 119 895   ∑ f =100 
 
 Mean       =      ∑ fX 
                   ∑ f 
      =     3180 
              100 
      =    31.80  

 (03 marks) 
(c)                                                                                                                  

Standard Deviation = √
∑ 𝑓𝑥2

∑ 𝑓
−  [

∑ 𝑓𝑥

∑ 𝑓
]

2

        

Standard Deviation = √
119 895

100
−  [

3180

100
]

2

        

          =   13.70 

 (04 marks) 
              (Total 10 marks) 

  

End of Section B 
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(Total 20 Marks) 

Suggested Answers to Question Six:  

Chapter 02 – Financial Mathematics for Business 
(A)  
(a)    

S = x(1 + ar)n  X = 300,000,    r = 8% =0.08,    t = 3 
 
  S = 300,000 (1 + 3 × 0.08) 

  S = 300,000 + 72,000 
                          S = 372,000 

  (02 marks) 
 

(b)     

𝑆 = 𝑋(1 + 𝑟)𝑛  X = 300,000,  r = 12/4% =0.03, n = 3×4 =12 
 
 𝑆 = 300 000 × (1 + 0.03)12 
 S = 300,000 × 1.426 
             S = 427,800 

                                      (02 marks) 

Chapter 02 - Financial Mathematics for Business 

(B) 
 (a)    

 0 1 2 3 

Investment (500,000)    

Net Cash Flow - 250,000 375,000 50,000 

 (500,000) 250,000 375,000 50,000 

10% 1 0.909 0.826 0.751 

DCF (500,000) 227,250 309,750 37,550 

NPV = 74,550     
 

  (04 marks) 
(b)  

   Project       NPV 

  A  74,550 

  B  80,400 

Since the NPV of the project B is higher than project A, Project B is the best project to 

undertake.  

                                      (02 marks) 
 
 
 
 

 

SECTION - C 
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Chapter 06 – Probability and its Applications 

(C) 
(a)    

 
 
 
 
 
 
 
 
 
 

      E(X)  =   ∑ X×P 
               =  1.82 

(03 marks) 
(b)   
 X : time taken  by a runner to finish a marathon (min) 
 µ=240  σ =40 

        𝑍 =
X  −  µ

σ 
                                    

 

𝑍 =
X  −  177

6.4
     

X=166,  𝑍 =
166  −  177

6.4
= −1.72     

 

X=185,  𝑍 =
185  −  177

6.4
= +1.25     

 
       

  

     0.4332   

                  0.4573 0.5 

 

                

 

                                                                                                    

   X                          166        177      185  

    Z         - 1.72         0       +1.25 

 
    Pr(166 < X < 185)  = 0.4573 + 0.3944 
                                  = 0.8517 or 85.17% 
 

The probability that a  randomly chosen adult male has a height between 166cm and 
185cm is 85.17%. 

 (03 marks) 

x p xp 

-1 0.32 -0.32 

0 0.01 0.00 

1 0.02 0.02 

2 0.04 0.08 

3 0.40 1.20 

4 0.21 0.84 

  
1.82 

0.3944 0.4573 
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Chapter 07- Index Numbers and Forecasting 
  (D)  
      

Item q1 q1 q0 q1 P1 q0p1 

x 100 15 70 1,500 1,050 

y 250 40 280 10,000 11,200 

Z 130 60 90 7,800 5,400 

 

   

19,300 17,650 

                         

Laspeyre’s Quantity Index   =
∑ 𝑃0𝑞1

∑ 𝑃0𝑞0 
× 100%

 

                                                  =
19,300

17,650
 × 100% 

                   = 109% 

(04 marks) 

(Total 20 marks) 

 
 
 
 
 
 
  

End of Section C 
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Notice:  
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designed 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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